Goniometrické fce – zadání v trojúhelníku

1. zadání
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Úhel měří asi 37 stupňů.

2. zadání
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Strana měří asi 47,7 centimetrů.
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3. zadání
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Strana měří asi 15,6 centimetru.

4. zadání
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Úhel měří asi 37 stupňů.
� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���








� EMBED Equation.3  ���		/� EMBED Equation.3  ���


� EMBED Equation.3  ���	/� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���








� EMBED Equation.3  ���		/� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���	/� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���








� EMBED Equation.3  ���		


� EMBED Equation.3  ���


� EMBED Equation.3  ���


� EMBED Equation.3  ���








[image: image9.wmf]přilehlá

protilehlá

tg

=

a

[image: image10.wmf]přilehlá

×

[image: image11.wmf]protilehlá

přilehlá

tg

=

×

a

[image: image12.wmf]a

tg

1

×

[image: image13.wmf]a

tg

protilehlá

přilehlá

=

[image: image14.wmf]°

=

40

40

tg

přilehlá

[image: image15.wmf]8391

,

0

40

=

přilehlá

[image: image16.wmf](

)

cm

přilehlá

7

,

47

»

[image: image17.wmf]přepona

přilehlá

=

a

cos

[image: image18.wmf]přepona

×

[image: image19.wmf]5

4

cos

=

a

[image: image20.wmf]přilehlá

přepona

=

×

a

cos

[image: image21.wmf]a

cos

1

×

[image: image22.wmf]a

cos

přilehlá

přepona

=

[image: image23.wmf]°

=

40

cos

12

přepona

[image: image24.wmf]77

,

0

12

=

přepona

[image: image25.wmf](

)

cm

přepona

58

,

15

=

[image: image26.wmf]přilehlá

protilehlá

tg

=

a

[image: image27.wmf]40

30

=

a

tg

[image: image28.wmf]75

,

0

=

a

tg

[image: image29.wmf]°

»

87

,

36

a

_1413622479.unknown

_1413622824.unknown

_1413622956.unknown

_1413623320.unknown

_1413623381.unknown

_1413623479.unknown

_1413623356.unknown

_1413623071.unknown

_1413622907.unknown

_1413622761.unknown

_1413622802.unknown

_1413622726.unknown

_1413622084.unknown

_1413622230.unknown

_1413622400.unknown

_1413622478.unknown

_1413135109.unknown

_1413135211.unknown

_1413622009.unknown

_1413622054.unknown

_1413134809.unknown

_1413135057.unknown

